malin()

{

int yv[100],x[100]},¢c,i;

ce=10;

‘or(i=0; 1<100; i++) {
YI[i] = x[1] + ¢;

}
}

.LeXt
.align 2
.file 2 "test2.c®
.globl main
.loc 2 2

# 1 main () '

2 ( Not Optimized
.ent main 2

main:

.option 0l
. Set noreorder
. cpload $25
. Set regr
subu $sp, |808
. frame sp, 808, $31
J1ec 2 2
doec 25

# 3 int {1001, x[100}1, ¢, 1i:

# 4

# 5 c=10;
1i $1i4, 10
SW S14, 4 ($sp)
.doc 2 7

# 6

# 7 for(i=0; 1<100; i++)} {
SW 50, O ($sp)

- $32

Jdoe 27
1o 2 8

¥ 8 yvIi] = x[i] + e
1w $15, 0 (Ssp) 991- A
mul 824, $15, 4 ¥ % A
addu §25, $sp, 8 ![.]
addu $8, $24, 525 x :)
1w $9, 0(38) XA
1w $10, 4($sp)
addu $11, $9, $10 Q Jffﬂ+c
addu $12, Ssp, 408 )/
addu  $13, 524, $12 'y ux;)
SW S11l, 0($13) .
loc 2 17 Y[A]’f YZJ'J + L

# 7 for{i=0; 1<100; i++)} {
lw $14, 0($sp) A,
addu §15, $14, 1 4‘_.:.‘.-”
SW 515, 0{($sp)
blt S15, 100, $32
Joc 2 11 7

# 8 y[iil = x{i) + ¢;

# 9 }

# 10

# 11 }
move $2, SO
.livereg Ox2000FFOE, 0x00000FFF
addu S$sp, 808
> 51 g S— leehre  stael

. end maln re '('V'r v

.verstamp 7 20

.option pic2
. CaXxt
.align p
.file 2 "test2.c"
. globl main
L loc 2 2 o
0 R
# 2 |
.ent main 2
rmain:
.ocption
subu $sp,*
. frame sSp, - 531
.loc
.loc
¥ 3 int y[100),x[100]),c,i:
# 4
# 5 ¢=10;
.loc 2 7 -
N ¥2:4
# 7 for(i=0; i<100; i++) { -
move $2, §0 {; >/
addu $3, $sp, 416 £Y = X
addu %4, S$sp, 16
addu  $2, $sp, 416 y{(/‘]
32 'kcﬁqvﬂ’
loc 2 7 IW”,
.loc 2 8 "{
# 8 yIi] = x[i) + c;
.noalias $3,59p
.hoalias Sd,53
.noalias $4, 5dp
1w $14, 0(%4) XU]
addu $15, $14, ¥[»] ¢
Sw S15, 0($3
.loc 2 7 (53) YI#J:IIFJJC

# 7 for(i=0; i<100; i++) ¢
lw 824, 4($4)
addu $§25, $24, 10
SW 525, 4(§3)
T—Tw §8, s34 ——
addu 59, %8, 10
| SW $9, 8(83)

—
addua $11, $10, 10
‘m_—_JWL___ﬁllﬁ—laiﬁgl_ﬁ____
addu §3, $3, 16
addu $4, $4, 16
bne s4, $2, $£32

.alias $3,54

.aliag 53, 5gp

.alias S4, Sgp

doc 2 11

# 8 yIi] = x[i] + c;
§# 3 }

# 10

# 11 )

move $2, 350

livereg O0x2000FFOE, OX00000FFF
addu $sp, 816

J $31

.end main



